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SSC -003

Test code-

03GC013116

Short SOLUTION

L 19
1. (b) L-12, S-19, — —
(b) S ><|I 12
I 20
1-9,7-20, = X =2
T 9
2_(b)5=M=5I3=w
2 2
3. (b)
PON:MLKJ:: XWVU:TSRQ
A AA.L|J|| A~ A AA..|I||
L .
2 _ 2 _
4. (a) (7)2—1=48,(12)% -1=143

;]

(b)) (7+2)x2=18,(5+6)x2=22

6.(d)A B L B CW
1 2 12 2 3 23
7. (d) Fruit
8. (d) Man writes his autobiography.
Similarly,

a nation writes its history.

9. (d) All three letters are vowels.

10.(a) Bhutan is land locked country.

11.(b) Rest three are only square. 64 is both
square and cube.

64 =43 org?.

12.(a) All the rest are used in a computer.

13.(a) Rest three are metro cities whereas

New

Delhi is a capital as well.

14.(a) Tomato grows above the ground

where as

the rest grow under the ground.

15. (d)

16. (d)

17. (d)

18. (o),
11=9

19.(c) Multiply the given digit with all the
digits smaller than it

3=3x2x1=6

4=4x3x2x1=24

5=5x4x3x2x1=120
20.(a)

52 _12_24,32 22 _5,
42 _12 _y5 82 _32 _55
21. (b)

2 5)
5 10 5 16
102 + 207 _ 125,162 1 167
i A

7+8=9+16, 11+?=10+10=?=20-

2
- 320, 82+87=80

22. (a) changing the sign as per the
instruction

5+2x12+6-2=7

5x2+12-6+2=19

5x2+12+6-2=10

5-2x12+6+2=3

23. (b)

3

4 4

Home

24. (d)
25. (b)
X Y p Q z

L[] L]
Most powerful Least Powerful

26. (c) 23 +52-33
33142-43
131+62=-37
33192 -108

27. (d) cannot be determined
28.(a) aacbbaccacchb

29. (b)
[k

1 r
XVT BEH WUS CF1

1
+1

fi\D(‘.

r"—
t

r]

30. (b)
31. (c) REVISION
32. (), 33. (c), 34. (d).

35. (d)
DEAN NOKX  NEED XOON
(W —ip ¢ L{H “5"1'2'3”
+10
| + [0
36. (c), 37. (d), 38. (d), 39. (c), 40. (a),
41.(d)
42. (d)
I. v
. v

43. (d) L. No information given about boys.

1. v
G
®
44. (a)
45. (d)

2x3=6,3x5=15,5x7=35
7x11=77,11x13=143,13x17 =221

(continuous prime number product.

46. (d), 47. (d), 48. (c), 49. (b) 50. (c).

51. (a) SP=Rs. 66, Loss = Rs. 11, CP =Rs.

77

Loss % = H x100 = 143%
77 7

52. (a) Xy hours.
yX

53. (d)
300
2 / N
200 100

Relative speed of both the trains =90 km/hr

5
= 90x-—=25m/sec

18 /
both the

Total alength of train

=SxT=25%x12=300m
Distance in 45 seconds by first train

D=S><T=48><%><45=600m

D= LT + Lp

=Lp =600 - 200 = 400m
54. (a) If speed x/y
Then, usual time

- X t=—2_ 110 = 40 minute
XXy 4x3
55. (c) A can type 75/25=3 pages in 1 hr.
A+B can type 135/27=5 pages/hr
B can type(5-3)=2 pages /hr
B can type 42 pages in 42/2=21 hrs.
56. (b) =

pg+qr+rp=0
—qr =pq +rp...(i)
—pq=qr +rp...(ii)
—rp = pq + gr...(iii)

p2 q2 2

+ +
pP-a® a*-p rP-gp

p2 q2 q2

p2+rp+pq+q2+pq+qr+r2+q2+rp
P+a+r
p+q+r
57. (b) Let the daily sale be Rs. 100, then
100x 22 130 _g75

100 100

Mean % decrease =100-9.75=2.5%
58. (b) tan5° tan10° tan20° = tan 3 x 5°

tan 15° =2 - \/5 (where o =50)

59. (a) 25ina+15c052(x =7

15sin2 o —2sina—8 =0
(Bsina+2)(5sinaa-4) =0

sina=4/50r—§

(o cannot be negative)

' cot a=3/4
60. (c)

_ 2 2
2Ry (Ry +h) = (122 - 8?)
R]_+h=&=ﬂ

R; Ry
2
40 «R
S IPELLL
Ry Ry
60. (a)
B (0, 8)
A
0| {15, O

—\15-0)2 + (0-8)% = 289 =17 units

62. (b) Let the radius of inner circle =r
ABCD is a square
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)
xP,

= ——

nap

WD C
2 x side =

V2(2R) = 242R

PQ=AC-AP-QC=2J2R-R-R

=2R(\2-1)

2r= 2R(J§-1)

r=R(2-1)

63. (c) ABC is an equilateral triangle with
sides =2 cm.

Area of shaded region

= Area of A ABC -Area of 3 quadrant

B2 2 0
—T(Z) -n(11 .ﬁx3)

[6 =600 as triangle is equailateral triangle]

§x4 3xnx1x%
\/__,

64. (a) Let principal be Rs. X
Then, amount = Rs. 2x
Interest = Rs. X
Let rate be r%
Then
Xxr
_xxrxS 10050,
100 5

1+x
2-X
1 2a+1

+

a+1 a2—1
1+x
__ 3 _ 3{2—x}
a? -1 1+x2_1
2-X
_ 31+x)(2-x)
1+x2+2x—(4+x2—4x)
31+x)(2-x)
1+x2+2x—4—x2
_30+x)(2-x)
6x -3
_3A+x)(2-x)
3(2x-1)

_[(1+x)(2—x)}
B 2x -1

65.(c) A=

+4x

66. (a) speed in m/sec.

_D_ Lt +Lp
TOTr
LT +Lp =SxT
125
—x18=125
18
67. (c) Let the present
andShyam be 4x and 5x years
After 5 years

age of Ram

X5 5 4y 130-25%+25= x =5

5xx5 6

Present age of Ram =4x5=20 years
68. (d) Let Number be N
Then, %

5. 3
3N EN 1643

EN 15x5

69. (c) {1+LH1+L}
X+1 X+2

1+i 1+ !
X+3 X+4

_X+2 x43 X+4 X+5
x+1 x+2 x+3 x+4
X+5

x+1
70. (c)

20%-20% =

error =

%100 = 64%

(20)(-20%) _
100

- 4%

71.(b) (4x4-3x5)% of sum =80
100% of sum =800

72. (d) Let the distance from starting point

be x speed of man downstream
=5+41.5 =6.5 km/hr
Speed of man upstream
=5-1.5=3.5 km/hr.
Speed of man upstream
=5-1.5=3.5 km/hr

Then, we have

X X _1-10x=6.5x3.5
6.5 3.5
—x=2275 _ 5575

10

73. (b) suppose B joins for x months. Then,

450x12 2 450 x6

St S x = =9 months
300xx 1 300

B joins after 12-9 =3 months.

74. (a)

Rate xconsumption = expenditure
10/kg x 10 kg =100

+32% increment 10%

Increment 13.20kg xx=110

X=110/13.2 =100/12= 8% kg

75. (a)
C.P.=2 100, M.P. =% 120
15 e
D= 100 ~120=1
S.P. =102
P s 100
Yo - x
C.P. M
- - V) = 204
100 100 = 2%
76. (b)
MP _ MP
W W
M, = P2V
DoWy
45x200x7.5
= RXAND g
150x 4.5 00

Extra men =100-45=55 men.

77 . (b)
1 2 1009
—+ +

x+1 y+2 z+1009
i_1+i_ . 1009
x+1 y+2 z+1009
1—x—1+2—y—2 1009 -z-1009
x+1 y+2 z+1009

1) () )

X,y .,z
Xx+1 y+2 z+ 1009
78. (a)

Raju Rinku Ram

6 dayn 12 days 25 days

Y |2//;

Efficiency =4 + 2+ 1 = 7 units/day

2 3

-1=1-3

-2

Required time= V-fi -3z
79. (b)
14% (Py 6%(L)
N i
4% (L)
P N
7 ~
2 18
1 : 9
On 14% profit = 10 ™ 50 =5 kg
9
On 6% loss = 10 x 50 = 45 kg
1
80. (a ) 8>< 6

=16 hour
8

81. (b) cos (a+B)=0

cos (o + ) =cos 900

(o +B) =900

a =90-B

Now sin (a—B) =sin (90 —2B)
= cos 2P

82. (a) P=Rs. 16000
R=5% annum
i.e., 5/2% (half yearly)

T= 1% years =3 half years
5/2% =1/40

P A

(40)3 (41)3
(64000) unit 68921 units
.

Rs.16000

1 unit > Rs. 'a
C.I. = (68921-64000) unit

- 4921x L =ps. 12301
4 4

83. (a) For no solution
a_b,a
n b o
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C Shadow B

AB :
tans = oo = *:- = /3 =tan 60°
V3
e = 60
85. (c) We know that
e =7
Given
7=(343)Y 1
3y-3=1
y=4/3
86. (b)
a= ! + 1 + !
2-3 3-8 4-5
a+23+3+/8+4+415

=9+1.732+2.828+3.87=17.43<18

87. (d) Power of x must be a positive
integer.

88. (a) AB=BC=x units.

A

B ¢
AC = y/(AB)? + (BC)?
“Vx2 +x% = 2x

Now, Perimeter =2p
2X + \/f.x =2p
X = 2p

2+2)
x=(2-\2)p

2

Area of ABC = %xx
1

=227

(3—2\/§)p2 sq. units.

89. (a)
A

E

ZMDE = 180° -(1()1') + 25) = 55'
ZCDE = 180° = 55" = 125°
90. (a)

LA LE» £C = 180
LB+ £LF+£D =180
Then,
LA=LB=2C+4D~+
91. (a)

ZE + £F = 300°

D C

A E F \B
In  ABC, £B1s acute angle
AC? = BC?+AB’- 2AB x AE
[nA ABD ZA is acute angle
A BI¥ = AD*+AB?*~ 2AB . AF
Then,
AC?+ BD?= BC*+ AD? + 2AB (AB - BE - AF)
=BC?+ AL? + 2AB. EF
=BC?+ AD? +2AB. CD

1
AD=9cem = GD= g 9 =3cm

>
BE=6cm= BGs= 3 = O=4cm

BD = (37,47 =5cm

93.(b) length of common tangent =

\’dz x (Rx r)2

94. (a) Let the number be x and y so,

75 3

— XX=2-XY

100 7

x_3.100_, .

y 7 75

x:y=4:7

95. (d)
4 10
\\ /

6.5

AN
3.5 2.5

21 kg —3x=7 Sx3=15kg

Hence 21 kg should be added.
96. (c) Required average
(5+10+25+15) %1000
6
100000 2

=16666 -
3

97. (d) Required percentage =
X+Y+2) |.n 2007 <100
(X+Y+2)in2008

~ 55x1000
~ 60x1000
98. (a) Required % =
X in 2006 N
(X+Y+2Z) in 2006

~10x1000

55x1000
99. (b) Respective Ratio
= (Zin 2005) : (Z in 2004)
=(15x%1000):(10x1000) =3:2
100. (d) Required number = Y in 2008+ Y in
2009
=(25x1000) + (15x1000)

=40 %1000 = 40000

x100 = 91.67%

100

x 100 = 18% (approx)
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Answersheet SSC -3 Mock Test

1. (B) 26.(C) 51.(A) 76.(B) 101. (D) 126. (A) 151. (C) 176. (B)
2. (B) 27.(D) 52.(A) 77.(B) 102. (D) 127. (A) 152. (D) 177. (A)
3. (B) 28.(A) 53.(D) 78.(A) 103. (B) 128. (B) 153. (A) 178. (C)
4. (A) 29.(B) 54.(A) 79.(B) 104. (B) 129. (D) 154. (A) 179. (A)
5. (B) 30.(B) 55.(C) 80.(A) 105. (C) 130. (A) 155. (D) 180. (D)
6. (D) 31.(C) 56.(B) 81.(B) 106. (B) 131. (A) 156. (A) 181. (B)
7. (D) 32.(C) 57.(B) 82.(A) 107. (B) 132. (C) 157. (B) 182. (C)
8. (D) 33.(C) 58.(B) 83.(A) 108. (C) 133. (B) 158. (C) 183. (A)
9. (D) 34.(D) 59.(A) 84.(C) 109. (C) 134. (C) 159. (C) 184. (D)
10.(A) 35.(D) 60.(C) 85.(C) 110. (B) 135. (C) 160. (A) 185. (D)
11.(C) 36.(C) 61.(D) 86.(B) 111. (B) 136. (B) 161. (C) 186. (D)
12.(A) 37.(D) 62.(C) 87.(D) 112. (B) 137. (C) 162. (B) 187. (A)
13.(A) 38.(D) 63.(C) 88.(A) 113. (A) 138. (B) 163. (B) 188. (C)
14.(A) 39.(C) 64.(A) 89.(A) 114. (B) 139. (C) 164. (A) 189. (C)
15.(D) 40.(A) 65.(C) 90.(A) 115. (A) 140. (B) 165. (B) 190. (B)
16.(D) 41.(D) 66.(A) 91.(A) 116. (A) 141. (C) 166. (B) 191. (A)
17.(D) 42.(D) 67.(C) 92.(C) 117. (Q) 142. (C) 167. (B) 192. (A)
18.(C) 43.(D) 68.(D) 93.(B) 118. (A) 143. (C) 168. (B) 193. (B)
19.(C) 44.(A) 69.(C) 94.(A) 119. (C) 144. (B) 169. (B) 194. (D)
20.(A) 45.(D) 70.(C) 95.(D) 120. (C) 145. (D) 170. (D) 195. (B)
21.(B) 46.(D) 71.(B) 96.(C) 121. (B) 146. (B) 171. (C) 196. (C)
22.(A) 47.(D) 72.(D) 97.(D) 122. (A) 147. (A) 172. (A) 197. (D)
23.(B) 48.(C) 73.(B) 98.(A) 123. (B) 148. (A) 173. (B) 198. (D)
24.(D) 49.(B) 74.(A) 99.(B) 124. (C) 149. (A) 174. (B) 199. (D)
25.(B) 50.(C) 75.(A) 100.(D) 125. (B 150. (D 175. (A) 200. (D)

156. aligns: Avflag T, develops: fawfa &,

Leadership can only align people with vision and cannot
develop,train or encourage

157.contradiction: &g,

adherence: 3fJUreld,
indifference: JWRdTe;

repugnanace: 37%fd
So people will follow(adhere to)suaaestions
158.consolidated: TaTfSc:abated: Medd &AT;normalized: AT TATAT

The intensity of the storm will lessen:abate
159.preposition rule:
Agree to proposal and agree with a person

166.vigilant: TTTUTA;vigorous: STREIR; conscious: Tdh:watchful: TTTUTH,
167.cherish: 3T=&T TAT,admire: 9[0T ITTAT; Flatter: W T, value:
3UAIITcT. appreciate: TR el

So appreciate will be the best synonym of cherish
168.congregation: aifdi& THT; meeting : @I

169.repudiate: gReamT; disown:

gReamT; decline: @Rmac;beget: HRUT gr:acknowledge: HeereT
So repudiate and acknowledge will be opposites
170.salubrious: TaEXI®I.unwholesome: 3FATETHT
171.lucid: g¥ug;clear so opposite of lucid is lacking clarity

172.mug shot: g¥qE;

173.chicanery: %‘{T-W;stratagem: a plan or scheme, especially one

used to outwit an opponent or achieve an end;artifice: clever or cunning
devices or expedients, especially as used to trick or deceive others.

174)fugitive: $TINST; refugee: YRUMAT; escapist: TTIAATET

175)hindsight: understanding of a situation or event only after it has
habpbened or developed.:foresee: be aware of beforehand:

predict.;foretell: predict (the future or a future event).:omen: ngi_c-"

176)go dutch: share the cost of something, especially a meal, equally.
177)on the dot: exactly on time.




